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DO0000000000000How much is the shirt?A

[1 pound. 9.15. C. pound. 4.05. B. pound. 4.50.00 J 81 O OO J [J
[1 001000 1200 O 1000 Why does the man want to buy an American
toy?A. He’ s leaving the States.B. Itis hisson’ s birthday today.C.
The woman asks him to buy one.1100 Who will enjoy having the
toy?A. The man. B. The man’ swife. C. Theman’ sson.12[] What
Is the woman?A. A truck driver. B. A shop assistant. C. A toy maker.
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[1 What is the man?A. A nurse. B. A doctor. C. A chemist.14] What
do we know about the woman?A. She is wet all over. B. She is tired.
C. She is ill.1500 What does the man tell the woman to do?A. Stay in
bed for some time.B. Go around from time to time.C. Gome to see
him tomorrow morning.16] Where does this conversation most
probably take place?A. In a garden. B. In the man’ s office. C. In the
woman’ shouse. 1 0100 00O 0O OO 170 2000 O 170 Where
will the bus arrive at first?A. San Francisco. B. Los Angeles. C.
Pasadena.18] What will the passengers do at Long Beach?A. Take a
rest. B. Have dinner. C. Change to another bus.1901 What is the
number of the bus?A. 4144. B. 4134. C. 4234.2000 What can we learn
from what the speaker said?A. Those who smoke should sit in the
back.B. The last stop on the bus route is Santa Barbara.C. Passengers
to San Francisco have to change to another bus. 100Test [0 O O [
Jodododododododotod www.100test.com



